## Financial Accounting-I (FYBBI)

	Multiple	ltiple choice questions (any eight)							
1.	Ledger								
2.	Petty Ca	sh Book							
3.	-								
4.	Cash Bo	ok							
5.	Valuation of Inventories								
6	Vendor								
7.	Purchase	Return							
8	FIFO								
9	More								
10	ICAI								
					07				
b.	. Match the followings (any seven)								
		ank of Baroda							
	2 (	ommission							
	3 N	Iachinery							
	4 0	verdraft							
	5 F	eturns Outward							
	6 (	ost match with revenue							
	<b>7</b> F	eturn Inward							
	<b>8</b> I	visclosure of all policies							
	<b>9</b> I	epreciation of Accounting							
	10 (	ontinuation of Business							
Q.2	In the Journal of Rohan								
					00				
	Date	Particulars	Dr. Amt	Cr. Amt.					
	Oct2 01	Particulars       5     Cash A/c Dr.	50,000	Cr. Amt.					
		Particulars         5       Cash A/c Dr.         Bank A/c Dr.							
	Oct2 01 01	Particulars         5       Cash A/c Dr.         Bank A/c Dr.       To Capital A/c	50,000 35,000	<b>Cr. Amt.</b> 85,000					
	Oct2 01	Particulars         5       Cash A/c Dr.         Bank A/c Dr.       To Capital A/c         Purchase A/c Dr.	50,000	85,000					
	Oct2 01 01 02	Particulars         5       Cash A/c Dr.         Bank A/c Dr.       To Capital A/c         Purchase A/c Dr.       To Amit A/c	50,000 35,000 40,500						
	Oct2 01 01	Particulars         5       Cash A/c Dr.         Bank A/c Dr.         To Capital A/c         Purchase A/c Dr.         To Amit A/c         Purchase A/c Dr.	50,000 35,000	85,000 40,500					
	Oct2 01 01 02 05	Particulars         5       Cash A/c Dr.         Bank A/c Dr.       To Capital A/c         Purchase A/c Dr.       To Amit A/c         Purchase A/c Dr.       To Cash A/c	50,000           35,000           40,500           25,000	85,000					
	Oct2 01 01 02	Particulars         5       Cash A/c Dr.         Bank A/c Dr.       To Capital A/c         Purchase A/c Dr.       To Amit A/c         Purchase A/c Dr.       To Cash A/c         To Cash A/c       Anil A/c Dr.	50,000 35,000 40,500	85,000 40,500 25,000					
	Oct2 01 01 02 05 15	Particulars         5       Cash A/c Dr.         Bank A/c Dr.         To Capital A/c         Purchase A/c Dr.         To Amit A/c         Purchase A/c Dr.         To Cash A/c         Anil A/c Dr.         To Sales A/c	50,000         35,000           40,500         25,000           20,000         20,000	85,000 40,500					
	Oct2 01 01 02 05	Particulars         5       Cash A/c Dr.         5       Bank A/c Dr.         To Capital A/c         Purchase A/c Dr.         To Amit A/c         Purchase A/c Dr.         To Cash A/c         Anil A/c Dr.         To Sales A/c         Cash A/c Dr.         To Sales A/c         Cash A/c Dr.	50,000           35,000           40,500           25,000	85,000 40,500 25,000 20,000					
	Oct2 01 01 02 05 15 20	Particulars         5       Cash A/c Dr.         Bank A/c Dr.       Dr.         To Capital A/c         Purchase A/c Dr.         To Amit A/c         Purchase A/c Dr.         To Cash A/c         Anil A/c Dr.         To Sales A/c         Cash A/c Dr.         To Sales A/c         Cash A/c Dr.         To Sales A/c	50,000         35,000           40,500         25,000           20,000         25,000	85,000 40,500 25,000					
	Oct2 01 01 02 05 15	Particulars         5       Cash A/c Dr.         Bank A/c Dr.       To Capital A/c         Purchase A/c Dr.       To Amit A/c         Purchase A/c Dr.       To Cash A/c         Anil A/c Dr.       To Sales A/c         Cash A/c Dr.       To Sales A/c         Bank A/c Dr.       To Sales A/c         Bank A/c Dr.       To Sales A/c	50,000         35,000           40,500         25,000           20,000         20,000	85,000 40,500 25,000 20,000 25,000					
	Oct2 01 01 02 05 15 20	Particulars         5       Cash A/c Dr.         Bank A/c Dr.       To Capital A/c         Purchase A/c Dr.       To Amit A/c         Purchase A/c Dr.       To Cash A/c         Anil A/c Dr.       To Sales A/c         Cash A/c Dr.       To Sales A/c         Bank A/c Dr.       To Sales A/c         Bank A/c Dr.       To Anil A/c	50,000         35,000           40,500         25,000           20,000         25,000	85,000 40,500 25,000 20,000					
	Oct2 01 01 02 05 15 20 25	Particulars         5       Cash A/c Dr.         Bank A/c Dr.       To Capital A/c         Purchase A/c Dr.       To Amit A/c         Purchase A/c Dr.       To Cash A/c         Anil A/c Dr.       To Sales A/c         Cash A/c Dr.       To Sales A/c         Bank A/c Dr.       To Sales A/c         Bank A/c Dr.       To Sales A/c	50,000         35,000           40,500         25,000           20,000         25,000           20,000         20,000	85,000 40,500 25,000 20,000 25,000					

b	I	n the Books of		sunder			
	Dahit Dalamaas	1	Balance	-1		A	07
	Debit Balances Debtors	Amt 20.000	Credit B	alances		Amt	
	Fixed Assets	20,000 92,000	Capital Sales			1,00,000 1,10,000	
	Cash	92,000	Return C	utwordo	1,10,000		
	Wages and salaries	30,000	Bills Pay			1,000 8,000	
	Bills Receivable	15,000	Bins Pay Bank Ov			11,000	
	Rent	6,000	Creditors			20,000	
	Purchases	70,000	Ciculton	3		20,000	
	Return Inward	2,000					
	Total	2,50,000	Total			2,50,000	
	Totul		R			2,30,000	
				11		•. •	-
Q.2	State giving reasons, whethe	r you will cons	ider the fo	llowing it	ems as Ca	pital,	8
<b>a</b> )	Revenue or Deferred 1. Capital expenditure						
	Reason = Cost incur	red in connecti	on with ac	anisition	of n asset		
	2. Revenue Receipt	red in connecti		quisition	01 11 45501		
	Reason = Recurring	in nature					
	3. Revenue Receipt						
	Reason = Recurring	in nature					
	4. Differed Revenue Ex						
	Have long term bene	fit but no reflec	ction in an	y fixed as	set		07
b)	Destional			Da	Da	7	07
	Particula	ars		Rs.	<b>Rs.</b>	_	
	Balance as per Pass Book	agitad		350	6,700	,	
	Add:- Debtors Direct Dep				2 250		
	Cheque issued not p	oresented		<u>2,000</u>	<u>2,350</u> 9050		
	Less:- Rent			1,250			
	Cheque not sent for	collection		550			
	Cheque Deposited ne	ot collected		1,000			
	Interest			200			
	Charges			<u>75</u>	<u>(3,075)</u>	<u>)</u>	
					<u>5,975</u>	<u>i</u>	
Q.3		In the Books	of Sebast	ian			15
Q.5	~						10
	Stater	nent Showing o	calculation	of Intere	st		
	Date Particulars				Amount		
	1/04/2011 Cost				2,50,000	)	
	1/04/2011 Less Down pa	ayment			<u>50,000</u>		4
	1/04/2011 Balance				2,00,000	)	_
	31/03/2012 Add Interest (	@05%			<u>10,000</u>	)	-
	31/03/2012         Balance           31/03/2012         Less First Inst	stallmant			2,10,000	J	-
	31/03/2012 Less First Ins 31/03/2012 Balance	stamment			<u>60,000</u> 1,50,000	)	-
	31/03/2012 <u>Balance</u> 31/03/2013 <u>Add</u> Interest (	@05%			7,500	J	-
		e 0 <i>0 /</i> 0			1,57,500	)	-
	31/03/2013 <u>Balance</u>				1,57,500	)	

chinery A/0 Date 31.3.12 31.3.13 31.3.14 31.3.15	50,000 2,500 52,500 52,500 NIL Particulars By Dep By Bal c/d By Dep By Bal c/d By Dep By Bal c/d By Dep By Bal c/d	Amt 25,000 2,25,000 2,25,000 2,25,000 2,02,500 2,02,500 2,02,500 2,02,500 1,82,250 2,02,500 1,82,250 1,82,250
Date 31.3.12 31.3.13 31.3.14	c Particulars By Dep By Bal c/d By Dep By Bal c/d By Dep By Bal c/d By Dep By Bal c/d By Dep By Bal c/d	Amt 25,000 2,25,000 2,25,000 22,500 2,02,500 2,02,500 2,02,500 1,82,250 1,82,250 18,225
Date 31.3.12 31.3.13 31.3.14	52,500 NIL c Particulars By Dep By Bal c/d By Dep By Bal c/d By Dep By Bal c/d By Dep By Bal c/d By Dep By Bal c/d	Amt 25,000 2,25,000 2,25,000 22,500 2,02,500 2,02,500 2,02,500 1,82,250 1,82,250 18,225
Date 31.3.12 31.3.13 31.3.14	NIL       c       Particulars       By Dep       By Bal c/d       By Dep       By Bal c/d       By Dep       By Dep	Amt 25,000 2,25,000 2,25,000 22,500 2,02,500 2,02,500 20,250 1,82,250 2,02,500 18,225
Date 31.3.12 31.3.13 31.3.14	c Particulars By Dep By Bal c/d By Dep By Bal c/d By Dep By Bal c/d By Dep By Bal c/d	25,000 2,25,000 22,500 22,500 2,02,500 2,02,500 20,250 1,82,250 2,02,500 18,225
31.3.12 31.3.13 31.3.14	By Dep By Bal c/d By Dep By Bal c/d By Dep By Bal c/d By Dep	25,000 2,25,000 22,500 22,500 2,02,500 2,02,500 20,250 1,82,250 2,02,500 18,225
31.3.13 31.3.14	By Bal c/d By Dep By Bal c/d By Dep By Bal c/d By Dep By Dep	2,25,000 2,50,000 22,500 2,02,500 2,02,500 20,250 1,82,250 2,02,500 18,225
31.3.14	By Dep By Bal c/d By Dep By Bal c/d By Dep	2,50,000           22,500           2,02,500           2,02,500           20,250           1,82,250           2,02,500           18,225
31.3.14	By Bal c/d By Dep By Bal c/d By Dep	22,500 2,02,500 2,25,000 20,250 1,82,250 2,02,500 18,225
31.3.14	By Bal c/d By Dep By Bal c/d By Dep	2,02,500 2,25,000 20,250 1,82,250 2,02,500 18,225
	By Dep By Bal c/d By Dep	2,25,000           20,250           1,82,250           2,02,500           18,225
	By Bal c/d By Dep	20,250 1,82,250 <b>2,02,500</b> 18,225
	By Bal c/d By Dep	1,82,250 2,02,500 18,225
31.3.15	By Dep	<b>2,02,500</b> 18,225
31.3.15	• •	18,225
31.3.15	• •	
	By Bal c/d	1 (1 005 1
		1,64,025
		1,82,250
endor A/c		
Date	Particulars	Amt
	•	2,50,000
	By Interest	10,000
	D. D. 11/1	2,60,000
	•	1,50,000
31.3.13	By Interest	7,500
1 4 1 2	Dry Dal b/d	1,57,500
	•	1,00,000
	By Interest	5,000
	Dy Dol b/d	1,05,000
	•	50,000 2,500
	By Interest	52,500
		52,500
	1.4.11 31.3.12 1.4.12 31.3.13	1.4.11       By Machinery         31.3.12       By Interest         1.4.12       By Bal b/d         31.3.13       By Interest         1.4.13       By Bal b/d         1.3.14       By Interest         1.4.14       By Bal b/d         31.3.15       By Interest

Q.3
-----

## FIFO Method

	]	Purchase			Issue			Balance	
Date	Units	Rate	Amt	Units	Rate	Amt	Units	Rate	Amt
01 Dec	5000	14	70,000				5000	14	70,000
07 Dec				1200	14	16,800	3800	14	53,200
16 Dec				2600	14	36,400	1200	14	16,800
18 Dec	4200	13	54,600				1200	14	16,800
							4200	13	54,600
19 Dec				1200	14	16,800	3600	13	46,800
				600	13	7,800			
22 Dec	3800	9	34,200				3600	13	46,800
							3800	9	34,200
30 Dec				3400	13	44,200	200	13	2,600
							3800	9	34,200
31 Dec				200	13	2,600	<u>3800</u>	<u>9</u>	<u>34,200</u>

## Weighted Average method

		Purchase	•		Issue			Balance	
Date	Units	Rate	Amt	Units	Rate	Amt	Units	Rate	Amt
01 Dec	5000	14	70,000				5000	14	70,000
07 Dec				1200	14	16,800	3800	14	53,200
16 Dec				2600	14	36,400	1200	14	16,800
18 Dec	4200	13	54,600				5400	13.22	71,400
19 Dec				1800	13.22	23,796	3600	13.22	47,604
22 Dec	3800	9	34,200				7400	11.05	81,804
30 Dec				3400	11.05	37,570	4000	11.06	44234
31 Dec				200	11.06	2212	<u>3800</u>	<u>11.06</u>	<u>42022</u>

15

				In the boo			<b>08</b> ]	Marks	
				Manufactu	uring A/c				
	Particula	irs		Amt.	Particu	ılars		Ar	nt
To ope	ning Stock	WIP		57,000	By Closing Stor	ck WIP		23	3,000
<u>To Rav</u>	w Matrs C	onsumed							
Openir	ng Stock Ra	aw Mate.	54,000						
+ Purc	hases		2,20,000		By Cost of Proc				
- Purch	nase Returr	ı	(20,000)		Transferred to 7	Trading A/c		3,27,	850*
+Carri	age		7,500						
+Freig	ht		500						
- Closi	ng Stock R	law Mate	(46,000)	2,16,000					
To Dir	ect Wages			50,000					
To Fac	tory Rent			7,500					
To Fac	tory Power	r		8,500					
To Dep	o. On Plant			11,500					
To Roy	yalties			350					
				3,50,850				3,50	),850
b.					L				07
	i) ii)	To Tra	tock A/C ding A/c tion A/c g A/c			2,20,000 24,500	2,20,0		
		To Plan					9,500		
	iii)		stributed as ling A/c	a free sam	ple A/c Dr.	2,000	2,000		
	iv)	-	A/c ling A/c	Dr.		2,500	2,500		
	v)		Expenses A/ rance Premi			7,700	7,700		
	vi)	Salaries Rent To Outs	A/C A/C standing Exp	Dr		40,000 18,000	58,000	)	
	vii)	Profit and	Loss A/c	Dr	ots A/c	3,200	3,200		
					<u>R</u>				

Q.4
-----

Particulars	Amt	Amt	Particulars	Amt	Amt
To opening Stock WIP		14,000			
To Raw Matrs Consmd			By Closng Stck WIP		8,000
Openg Stock Raw Matrs	24,000				
+ Purchases	1,94,000				
+ Octroi	22,000				
- Closg Stck Raw Matrs	(16,000)				
		2,24,000			
Direct Wages	1,14,000				
+ Outstanding	(2,000)	1,16,000			
Factory Rent		14,000	By Cost of		4,11,000
Other Direct Expenses	24,000		Production Transfd to		
- Prepaid	(1,000)	23,000	Trading A/c		
Indirect Wages		16,000	-		
Dep on Machinery		12,000			
		4,19,000			4,19,000

## **Trading Account**

Particulars	Amt	Amt	Particulars	Amt	Amt
To opening Stock FG		40,000	By Sales		6,20,000
To Cost of Production		4,11000	By Closing Stock FG		20,000
To Gross Profit		1,89,000			
		<u>6,40,000</u>			<u>6,40,000</u>

15

		Profit and L	loss Account		
Particulars	Amt	Amt	Particulars	Amt	Amt
To Administration Ex	p	62,000	By Gross Profit		1,89,000
To Selling Exp	-	26,000	-		
To Interest		14,000			
To Discount Allowef		8,000			
To Bad Debts	2000				
- Old R. D. D.	(6000)				
+ Net Loss	<u>5000</u>	1000			
To Net Profit		78000			
		<u>189000</u>			<u>1,89,000</u>
		Balanc	cesheet		
Liabilities	Amt	Amt	Assets	Amt	Amt
Capital	1,70,000		Machinery	120,000	
- Drawings	42,000		- Depreciation	(12,000)	1,08,000
+ Net Profit	78,000				
Bills payable		14,000	Sundry Debtors	1,00,000	
Creditors		50,000	- <u>RDD</u>	<u>(5,000)</u>	95,000
Outstanding Direct		2,000	Cash		24,000
Wages			Prepaid Insurance		1,000
			Closing stock		
			Raw Matrs	16,000	
			WIP	8,000	
			FG	<u>20,000</u>	44,000
		2,72,000			2,72,000
		<u>_,,_,,,,,,,,</u>			
			t, Going concern, Realis		
Definition <u>Principles</u> Business Entit			t, Going concern, Realis ure, Materiality, Revenu		Dual
Definition <u>Principles</u> Business Entit			-		Dual
Definition <u>Principles</u> Business Entir aspect, Consis	stency, Convers		-	e Recognition	Dual
Definition <u>Principles</u> Business Entir aspect, Consis Matching	stency, Convers		ure, Materiality, Revenu	e Recognition	Dual
Definition         Principles         Business Entir         aspect, Consis         Matching         b.         Revenue Ex	stency, Convers		ure, Materiality, Revenu	e Recognition	Dual

	Helps to maintain an asset	Helps to acquire a new asset					
	Recurring	Non Recurring					
	Short term benefit	Long term Benefit					
	Examples	Examples					
	<u>OR</u>						
	Give Short Note (Any three)						
1	Sales Return Book						
2	IFRS						
3	Accounting Standard 10						
4	Revenue receipts						
5	Internal Voucher						
	*****	*****					